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corfesponding COs and POs in parentheses.

I' + micTowave transmitter has an CyltP'It Qf 0.1 W at
11} :lmlcroy Ce comTnFnlcatlOn SY?tem where the transmitting antenna is a parabola at a height
of 81 m and the receiving antenna is a conical horn at ground level, each 1.2 m in diameter.

a) What is the.gain of each ''t'nn' in d„ib,I,? N.t, th,t, th, ,ff,.ti„ „,,, ae ,f , p„,b,hc
?:ljenna (with a face area '4) is o.564 and thaT of a „„i,,1 ,nt,nn, (with , m:,„,th ;„, b:
22
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c) WITt i?,the m?xjmum “)verage of this (Line-of-sight) propagation? Which height win y,„,
set fOr the receiving antenna tO triple the maximum coverage? ' J

a) :fpIJain Pe diRT:nt modes of scanning in IEEE 802.11 WLAN. Discuss the advantages and
disadvantages of these scanning modes. - ––- –-- --'- ' --“'“b

2.
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the beneflts and drawbacks of the fragmentation process

c) FoTsider an in£Fastructure-based 802.11 WLAN with two stations, station A and station B

If:ehs:i:E:?=:?=£r:£::l:lrfba:rdB£oo:::I: sir: IT,:''(?J)T+::::,=== =::;itTit
tEe rang of each other and can hear each other’s transmissions. In the first attempt) they
choose the same random number as the backo# value from the contention window1 dw :

16.' However’ in the second attempt theY choose a different random number as the bac.koK
=?lue' Considering this scenario, list the sequence of events along with the necessary labeled
diagram

d) That is the disadvantage to the time domain backo a strategy? Describe Back2f (Back.oHin
frequencY Domain) strategy and how it can overcome the disadvantage.

a IT;1 ;tP in:: Ii:[i! ! :: r]:FIll iPI : IL;iT;e: s 1r;IsHi]}]:II: ;(11: Eh=:=uIFoPf£T = : :Tan: :: : = XxI =
utilization even after using the SDMA protocol?

b) IllusTrate the effect of attenuation and noise on transmission power and comment on their
relationship with the maximum transmission_ range with a laieteJ ia;-ch-a-ri
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c) Describe the working procedure of the Timing Swchronization Function (TSF) in the Basic
Service Set (BSS) and the Independent Basic Service Set (IBSS). WhY TSF is required in IEEE
802.11 WLAN?

d) Describe the architecture of Mesh network. Discuss the advantages and disadvantages of a
Mesh network over a typical infrastructure network.
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